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OUTCOME T5— Review 

1. Solve the following trigonometric equations over the given interval. 

a) 2 cos 0 = 2 where 0° < 0 < 360° 

COSe 1 

b) 4 tan 0 — 7 = 5 tan 8 — 6 where —27r < < 

  

  

    

e=31-  4- 	4 

4- 	 111" 

07,d  
c) 4sin2x — 1 = 0 where —47r < x < it 
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2. Solve the following trigonometric equations over the given interval. 

a) 2cos20 + cos@ = 0 where [0,27r] 
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b) 2sin20 — 5 sin —3 = 0 where [-37r,3n] 
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c) sec 9 + 10 = 2 — 4sec 0 where 6 E la (in radians) 
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3. Solve the following trigonometric equations over the given interval. 

a) tan2x — 3 tan x = 0 where the domain is all real numbers (in degrees). 
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b) csc20 + 4 csc 0 — 12 = 0 where [0,27r] 
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3sin2 0 + sin 0 — 1 = 0 where 0° <0 < 360° 
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